A £ 0l & AF & S

Al A

20233 & 204k LB A =X
A AE=sIID
B =MBATAl X4
oels HEe S X4 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
At =Xt 9,805,243 8,516,538 1,288,705
= 904,095
Al 724,753
4| 8,176,3%
SMEAC A &4 3,218,345 3,565,680 A347,335
= 100,000
AlHI 50,000
-4l 3,008,345
et Z¥ A 871,298 574,670 296,628
= 100,000
Al 50,000
4| 721,298
=2 L AKX A2|(MSAIY) 451,298 524,670 ANT3,372
101 @124t 251,597 316,169 264,572
M IIRNZ2EXsSEs 251,597 316,169 A64,572
O3d, R S &l 218,223
o124 86, 1202 *13H 28«6 188,087
SRS Sy 3,0003x2ZG 282 +6F 1,008
SUHAZIEERE S
188,087,000 *4. 5% 8,464
S0IAHABEHREZ
188,087,000 *3.495% 6,574
- NESERES 188,087,000& *1.75% 3,292
ATHEERE S 188,087,000 x 1% 1,881
Lo QALEHRES
9,102,000 *12.27% 1,117
SKEIE 300,000 «13H 3,900
-HEBNOME 300,0002 135 3,900
OXrdAZH 2el 33,374
- Q124 86, 120& 2B +x282U +6H 28,937
- ROIHZEHRYES
28,937,000 *4.5% 1,303
S0AAEEHRES
28,937,000 *3.495% 1,012
- NESEREZ 28,937,000 *1.75% 507
CAMNEERYEZE 28,937,000 x 1% 290
Lo RASEHRES
1,012,000 *12.27% 125
SXEQIE 300,000 x2H 600
HEAMNHS 300,000& x2H 600
201 B2 AL| 97,891 96,691 1,200
02 2324l 97,891 96,691 1,200
O33ae 3323 67,266
Fap = 2,500,000& *12& 30,000




2A: A =X
B =MEAC A TH
SERE TR I (ool )
K- B8-S (B1H) - HISAY - Ofl by G o MimE=EY
N 6,000,000/ +62 36,000
- H2I| ABE 50, 0002120} 122 1,200
CBIEA oHNY 28 ARR
500« 1Jlx12€ 66
OZ2d, RFX AIZ&H| |4 30,625
=3E 1,000,000& *53= 5,000
22A2L|A, SR SHEA 22| S
4,500,000& 4,500
&, R AlE&= EH|
5,000,000 5,000
=3 =EAIE & 2 A
4,200,000 4,200
ZH|LXH(ALXE, 24| £)
7,425 ,000& 7,425
- HEIOI=0IAIE HIIAIEZ AL
4,500,000 4,500
203 YR =XIH| 810 810
03 AIHF=RIAREAIH| 810 810
O3] &435 F&X 900, 000 *90% 810
206 =8| 22,000 22,000
01 THZHI 22,000 22,000
O3J&e| M- 22,000
= 2 AL 2 10,000,000& 10,000
x5 Y AIEAE 2 7
12,000, 000& 12,000
305 a2 S 2,000 2,000
01 A2 S 2,000 2,000
OzolitHa 2 (2 22]) 2,000,000& 2,000
401 AIEHIZLE0HY] 65,000 75,000 10,000
01 Al&H| 65,000 75,000 A 10,000
OHEI0I=0IAIE Birs 9
5,000,000 5,000
O2€ Wl o{2l0l=0lAld &Y
10,000, 000& 10,000
O=Xt 2401 At 50,000,000& 50,000
405 XHaHE S H| 12,000 12,000
01 AL Z2EFSH| 12,000 12,000
O2sAdE & HOAE 2L
12,000,000& 12,000
CIHE DIZUHE Al ZEAIE 200,000 0 200,000
= 100,000
AldI 50,000
2| 50,000
401 AlEH|IL L CHH] 200,000 0 200,000
= 100,000




FA A=
M =MSACA EH
(s B ESES] B e QRN EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 50,000
Tl 50,000
01 Al&H| 200,000 0 200,000
OUUHE JI=HE TAl= Z8AY
200,000,000 200,000
= 100,000
Al 50,000
Tl 50,000
FES 218X 22 SAZeA=(A3H)Z2E 89 70,000 70,000
401 AlEHIZ 201 70,000 70,000
01 Al&H| 70,000 70,000
OZTgs 218X L& TAZeHE(A3))
24 9 70,000,000 70,000
TEYHA T Y ExSA 150,000 150,000
401 AIEHIZ SR 0HYI 150,000 150,000
01 Al 150,000 150,000
OPBENT 2% B4TA
150,000,000 150,000
M Z2t =3t 2,347,047 2,991,010 A643,963
2= & 3ty =X 22 1,247,047 1,991,010 AT743,963
101 @124H| 502,063 630,986 128,923
M IRINZZENSES 502,063 630,986 A128,923
Otz & stek=Al 2el 435,321
IAHI (FEXEE)
86, 1202 x26H 28 L6 376,173
SRS Eats) 3,000 x3&+x28L «6E 1,512
L ECEEIE
376,173,000& *4. 5% 16,928
012 YBE R
376,173,000 *3.495% 13,148
- IEEERES 376,173,000 *1.75% 6,584
MIHEERES 376,173,000 * 1% 3,762
LOARYEERES
13,148,000& *12.27% 1,614
SAZE 300,000 +26%H 7,800
-HENOS 300,000& x26H 7,800
OIS 2l 66,742
QIAH| (FEXEE)
86, 1202 x4 H+28 26 57,873
=HSEERES
57,873,000 *4. 5% 2,605
- RUALEEHRYS
57,873,000 +3.495% 2,023
- IEE2ERES 57,873,000& *1.75% 1,013
SHHEERES 57,873,000& * 1% 579




FA A=
M =MBACA A
Rl et =3t (CHel: &2l
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Lo RYEERES
2,023,000& %12.27% 249
SAZE 300,000& x4 1,200
JdEH0= 300,000 x4 1,200
201 2= 93,884 90,924 2,960
01 At22t2ltl 10,600 10,100 500
OZdEg2 =AU RS0 ZIIZ Ak
Bl 2,300,000& #2CH 4,600
OAlFILH HEZ 6,000,000& 6,000
02 S3=gHl 83,284 80,824 2,460
O=sXAE=E S882= 46,260
& - olekls 5,580,000 62 33,480
o= 900,000& 122 10,800
RSB RUNE= Y=Y 55,0002 +3CH* 12 1,980
OsX2elE& ALl !X 37,024
- OlIF D1 90,0002 +6CH 540
- SEE8 90,0002 «2CH 180
- SEHE 90,0002 1CH 0
- IO 90,0002 *1CH 0
- RRU(FYSR) 1,361&*1,000L 1,361
- RSO0, ER) 1,163&*1,000L 1,163
-=X2elE SO (M & +==2014l)
495,000 x 10 4,950
=sXzelg SISIHESI)
495,000 x50 24,750
SNHYE HNES 65,0002 +60H 3,900
206 M=l 174,900 174,900
01 MHZH| 174,900 174,900
Oot2==, 3ttt s 22l XY 66,900
2o 2t AL SFA
5,0002+6, 00074 30,000
- HollE FAHHA 11,2352 %1789 2,000
NESS 20,000 *300% 6,000
AR (EFR, &, WFH0IE S)
10,0003 x 1208 1,200
&g 2482 = S30HH
4003 +33, 50074 13,400
2, XU ==HI=
10,0003 *1,200 12,000
JIEH 22l XK 2,300,000 2,300
OHEE =3b Mok, 2el Xt 108,000
YA S (=)
13,0002 %4,000H 52,000
ZESE S HExE
1,000&5,000=+32] 15,000




FA A=
B =MBATAl T4
Rl et =3t EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-HE & s 10,0002 *600%E 6,000
1= L= 200&*170,000= 34,000
JIER2ACIXH (2 =AlE S)
1,000,000& 1,000
305 HHal= S 1,000 1,000
01 that=S 1,000 1,000
OZotha (=XI5e) 1,000,000& 1,000
401 Al HIZ 2018 475,200 1,093,200 A\618,000
01 Al&H| 473,200 1,091,200 618,000
OFERTA & MHEHX =X 2
35,000,000 35,000
OXEALIR & 23+ 2e
20,000,000& 20,000
Otz & otet=1] 2l
150,000,000 150,000
OHXZE AL= 2 31,200,000& 31,200
O7d8s =REA 2& 2|
15,000,000& 15,000
Otz & Stet=X] 24
20,000,000 20,000
OogRd &= Xel 170,000 600t 102,000
Oan2 atd, g Xd & 3|
50,000, 0002 50,000
OREZE S =X 22|
50,000,000 50,000
03 Al 20HHI 2,000 2,000 0
OSXIAHY AlE 20| 2,000,000& 2,000
HY2s WS TEAM(FLUS0I0L) 500,000 500,000
401 AlEHIY S CHYI 500,000 500,000
01 AlZH| 500,000 500,000
OZEes AXNZE =LA (LEN0IA)
500,000,000& 500,000
AHEER HSUS Jt24 Sstatel 300,000 0 300,000
401 AIEHIZ SR HYI 300,000 300,000
01 Al&HI 300,000 300,000
OugEI HEUS 2+ Sstad|
300,000,000 300,000
JtZ2== JHXIXID| SAt 300,000 300,000
401 AlEHIZ 2 0HbI 300,000 300,000
01 Al&H| 300,000 300,000
OJt2%= JHXIXII| SAt 300,000,000 300,000
SRS & 6,179,480 4,531,344 1,648,136
= 804,095
AlHI 674,753
Tl 4,700,632
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FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 7,900 7,900 0
OdtE s Xl 7,900,000& 7,900
SAETHSH Xt EDI(AS X 20L& SHH) 198,3% 195,573 2,823
= 54,245
AlH] 24,409
Tl 119,742
101 @124H| 198,3%6 186,509 11,887
= 54,245
Altl 24,409
Tl 119,742
M ORINZZ2NSE S 198,3% 186,509 11,887
Ot sl =02 a2t 198,3%,000& 198,3%
= 54,245
AltI 24,409
Tl 119,742
ArEH A E e (2 ) 2,175 0 2,175
= 870
AlHI 391
Tl 914
201 et 3| 700 0 700
= 280
AlH] 125
Tl 295
01 AtR2t2|HI 700 0 700
Ott=dlst g4 700,000 700
= 280
AlHI 125
Tl 2%
202 O4H| 1,475 0 1,475
= 590
AlH] 266
Tl 619
01 =LHAHI 1,475 0 1,475
Out=dlst £ 1,475,000& 1,475
= 590
Alt] 266
Tl 619
SEAE X2l (34) 11,700 0 11,700
= 4,680
Alt] 2,106
Tl 4,914
401 Al HIZL 201 11,700 0 11,700
= 4,680




FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 2,106
Tl 4,914
01 Al&H| 11,700 0 11,700
Odt=0e gatd X1 S
11,700,000& 11,700
= 4,680
Al 2,106
Tl 4,914
METSIEHIES (3 9,217 0 9,217
= 3,687
Al 1,659
Tl 3,871
206 MH=HI 9,217 0 9,217
= 3,687
AltI 1,659
Tl 3,871
01 MHZHI 9,217 0 9,217
Out=2 8l ¢ 9,217,000& 9,217
= 3,687
AltI 1,659
-l 3,871
MAERESA2S(FY) 800 10,610 29,810
= 320
Altl 144
-l 336
405 AtatsE = 800 800 0
= 320
AlH] 144
Tl 336
01 ML ESFSHI 800 800 0
O=UHERAI M+ 800,000 800
= 320
AlH] 144
Tl 336
AETH A E 2| (XH2) 1,950 11,100 N9,180
= 780
AlH] 351
Tl 819
201 er23 | 1,950 2,600 AB50
= 780
Alt] 351
Tl 819
2 S5=2g4l 1,950 2,600 AB50




FA A=
mu: NRINRS X4
Rl MEYX EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLEZTAIE AXZMAIAL OtUH L S
&= (150H) 130,000 = 1574 1,950
= 780
Alt] 351
Tl 819
ANBIER 2 (ASEX) 10,920 10,000 920
= 7,909
Tl 3,011
301 LEtE N = 10,920 10,000 920
= 7,909
-l 3,011
0 MSRREEYS 10,920 10,000 920
OLr=YA g2 2
698,700« 1H* 122 8,385
= 7,909
Tl 476
OUEZAl HREX SAHI
7,000 x1H+22x 122 1,848
OUE=ZAl EFEX WSHI
2,600 x1H*22x 12 687
srg 2t 5,092,808 3,313,416 1,779,392
= 731,604
AltI 645,693
-l 3,715,511
SMHEES A 328,891 150,017 178,874
101 21AH| 163,524 61,167 102,357
04 JIZtN2Z2XNSE= 163,524 61,167 102,357
OtlgEsd 66,742
QIAHI(FE X2 E)
86, 1203 x4 B 28U +6E 57,873
SPHSEERES
57,873,000& 4. 5% 2,605
=UALEH LGS
57,873,000 +3.495% 2,023
LA RYEERES
2,023,000&%12.27% 249
- IE2ERES 57,873,000& *1.75% 1,013
MHEERES 57,873,000 * 1% 579
JEHU2 300,000 *4H 1,200
- SXNEIE 300,000 x4 1,200
(OF3=FSE=pN ESl 9,782
IAYI (FEXEE)
86, 1202 «0H 28 L x4 86,809
SRS Eat=y 3,000« 1& -0 270




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EEEEEETEE
86,809,000& 4. 5% 3,907
=AY EERES
86,809,000 *3.495% 3,034
LA RYEHERES
3,034,000&*12.27% 373
- IEEERES 86,809,000 *1.75% 1,520
SHHEERES 86,809,000 * 1% 869
201 ger= 3| 34,237 29,320 4,917
01 AtR2te|H] 16,900 13,900 3,000
ORH4BHRA=F = M=
15,0003 *160& 2,400
Ozt0letdd dotx 4
300,000 32|+ 1074 & 9,000
OAS LA SA 10,0002 * 150 1,500
Ostdd SHMA L& X
100,000 *10H 1,000
ORI (&Y, =X, 3¥) 22I| X
50,0002 x5 122 3,000
2 5234l 17,337 15,420 1,917
OslgA=d d=)| S
60,0003 * 12 720
OEXE0oD| & atdd Jes
16,000,000& 16,000
OAZZHl |FHI 1,927 2802 | E1*4E 617
206 M=l 19,130 10,530 8,600
01 MZH| 19,130 10,530 8,600
AZY AR K 28 6,030,000& 6,030
ORHIHA =7 S 4,500,000 4,500
OFRHIHX =4 8,000,000& 8,000
OM=&HI(M=I], & &) 600,000 600
401 Al HIZL 201 112,000 45,000 67,000
01 Al&H| 112,000 45,000 67,000
OMEUW AIE=E FA2C
30,000,000& 30,000
OS0Harg 7 HXE0ID] EXI(FLIE 004
) 20,000,000& 20,000
O¢Hd Ul THoll?Igl= &l
50,000,000 50,000
ORI A =4 2,000,000& 2,000
OsIAIRY &4 4X
10,000,000 10,000
AESE TE(HEAY) 2,000,000 1,100,000 900,000
401 A2 HIRL R 0HbI 2,000,000 1,100,000 900,000
01 Al&HI 2,000,000 1,100,000 900,000




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONA=z Aed38 8 (3EH)
2,000,000,000& 2,000,000
NolZ &MEIH T8 (HEAY) 100,000 100,000
401 AIEHIX R0 100,000 100,000
01 A28l 100,000 100,000
OAlclz &HE33 xd 100,000,000 100,000
HSE2HAE K& 387,514 387,514
= 271,259
AlHI 81,377
-l 34,878
401 Al HIZ S OHYI 387,514 387,514
= 271,259
AlHI 81,377
Tl 34,878
01 AlZH| 387,514 387,514
OAFEH (2km) 387,514,000 387,514
= 271,259
Alt] 81,377
Tl 34,878
AXANEAIE X1 81,000 81,000
= 56,700
AlH] 17,010
Tl 7,290
401 Al HIZL 01| 81,000 81,000
= 56,700
Altl 17,010
Tl 7,290
01 Al&HI 81,000 81,000
OAEXI AP (Tha) 81,000,000 81,000
= 56,700
AlHI 17,010
Tl 7,290
AEAIE 22te] OlaRS B 880 880
= 616
AlHI 184
Tl 80
401 AIEHIZ SR OHYI 880 880
= 616
AlH] 184
Tl 80
01 A28l 880 880
OAEZAIE 22 BE(4H2)
880,000& 880




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 616
AltI 184
-l 80
TES dEMH S S2A MZAIE 228H 880 0 880
401 AIEHIZ R OHYI 880 0 880
01 Al&H| 880 0 880
O7Es §EME S S72X AHZAIE 2
283 880,000 880
Aol =4 2l 21,000 0 21,000
= 14,700
Alt] 4,410
Tl 1,890
401 Al HIZL 2018 21,000 0 21,000
= 14,700
Albl 4,410
Tl 1,890
01 Al&H| 21,000 0 21,000
OAtere el (E4)(34)
21,000,000 21,000
= 14,700
Altl 4,410
Tl 1,890
A THOHZ Kt SHOI(AAMER S ZHOll 2 EE) 62,000 122,300 260,300
= 22,600
AlHI 10,170
Tl 29,230
401 AIEHIZ SR OHYI 62,000 122,300 260,300
= 22,600
AlHI 10,170
-l 29,230
01 AlZ2H| 62,000 122,300 260,300
ObHZTHOH L Kk2 | (ALALER S Z Ol 2 E)
62,000,000 62,000
= 22,600
AltI 10,170
Tl 29,230
SLTHC(HEAIY) 736,922 591,240 145,682
Altl 272,000
Tl 464,922
101 e124d| 116,922 111,240 5,682
M ORINZZ2NSE S 116,922 111,240 5,682
O=ZXd JIZAN22 X 116,922
IAH| (FEXEE)
86, 1202 x7H+28L 6 101,278




FA A=
mu: NRINREY X4
Rl g2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
SHNEIE o HHHOIS
300,000 *7& 2,100
-HEY0ES 300,000 7 2,100
-RUHsSEEE 101,278,000 4. 5% 4,558
-RUALLEEHZ 101,278,000 +3.495% 3,540
- YIeLEE= 4,558,000&*12.27% 560
- NEFER 101,278,000& *1.75% 1,773
MHEEE 101,278,000 * 1% 1,013
401 AIEHIZ SR OHYI 620,000 480,000 140,000
Al 272,000
Tl 348,000
01 Al&HI 620,000 480,000 140,000
Os¢2 ZHI(34.5m) 320,000,000 320,000
AlH] 272,000
T4l 48,000
O=Zd=xd € 2 300,000,000 300,000
L AIE (HEALY) 94,800 100,000 A5,200
Altl 72,048
el 22,752
401 AIEHIZ SR 0HYI 94,800 100,000 25,200
Al 72,048
- 22,752
01 Al&H| 94,800 100,000 /5,200
OTZINE(1.0km) 66,000,000 66,000
AlHI 50,160
Tl 15,840
O E==(6.4km) 28,800,000 28,800
AltI 21,888
-l 6,912
OlOIAH S&H2 2 HH==2 HHI(F2IE 004 10,000 0 10,000
401 AIEHIZ R HYI 10,000 10,000
01 Al&HI 10,000 10,000
Ootolat Satz A =2 FH|(FIE 00l
&) 10,000,000 10,000
Seteh M= HE= MA 200,000 200,000
401 AIEHIX SO 200,000 200,000
01 Al&H| 200,000 200,000
Osstdt AM==A HE= MA
200,000,000& 200,000
=old MESAH2Y AE 29 79,428 76,500 2,928
= 39,714
AltI 27,800
Tl 11,914




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 79,428 76,500 2,928
= 39,714
Albl 27,800
Tl 11,914
05 2ItRIE = 79,428 76,500 2,928
O=di& sHE=IdEY AE=2d
79,428,000 79,428
= 39,714
Altl 27,800
Tl 11,914
OMMZ N = 22,000 22,000 0
= 11,000
AlHI 3,300
el 7,700
401 AIEHIZ SR 0HYI 22,000 22,000 0
= 11,000
AlHI 3,300
-l 7,700
01 AlZ2H| 22,000 22,000 0
(@R FPNPS SN 22,000,000& 22,000
= 11,000
AlHI 3,300
Tl 7,700
OIMIZIR M SAU=IHRI| 208,272 216,960 N\8,688
= 104,136
AlHI 32,240
Tl 71,8%
401 AIEHIX R0 208,272 216,960 8,688
= 104,136
AlH] 32,240
Tl 71,8%6
01 Al&HI 208,272 216,960 N\8,688
O0IMS XM Z =0t 0| 208,272,000& 208,272
= 104,136
Alt] 32,240
Tl 71,896
M=) 62,710 31,134 31,576
= 31,355
Alt] 9,407
Tl 21,948
401 Al HIZL 201 62,710 31,134 31,576
= 31,355
AlHI 9,407




FA A=
mu: NRINREY X4
Rl g2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 21,948
01 AlZ2H| 62,710 31,134 31,576
OZXEXIIHI1(20ha) 62,710,000& 62,710
= 31,355
AlHI 9,407
Tl 21,948
SHEEENE A 130,516 62,115 68,401
= 91,693
AlHI 10,964
Tl 27,859
401 Al HIZ S 0HbI 130,516 60,115 70,401
= 91,693
Alt] 10,964
Tl 27,859
01 Al&H| 128,516 58,115 70,401
LUHHH S X 70,401,000 70,401
= 50,230
Altl 6,054
Tl 14,117
OALIRMHEEE A 58,115,000 58,115
= 41,463
Albl 4,910
Tl 1,742
03 Al 20HHI 2,000 2,000 0
OSAZ=2 Ml S
2,000,000 2,000
SAETHGH R (A EHSHZ LN -BEEE) 169,661 134,316 35,345
= 84,831
AlH] 25,449
Tl 59,381
401 AlEHIZ 2018 169,661 134,316 35,345
= 84,831
Al 25,449
Tl 59,381
01 Al&HI 169,661 134,316 35,345
(OFg= 1=k 169,661,000 169,661
= 84,831
Altl 25,449
Tl 59,381
SNHHSSEHS 3,000 3,000 0
= 3,000
201 fet=3| 1,500 1,500 0
= 1,500




M MEEXID
HE: MRTE X4
Rl AtE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al 22l 1,500 1,500 0
OSHBIHR 1= 2 346 S
1,500,000 1,500
= 1,500
202 04| 1,500 1,500 0
= 1,500
01 =LHO LI 1,500 1,500 0
OSHBRSER ol 1,500,0002! 1,500
= 1,500
SARIMHIAE 0] 2Y(TEAL) 93,34 88,000 5,334
Al 79,334
-l 14,000
101 @124H| 93,334 85,000 8,334
AlHI 79,334
-l 14,000
04 JIRHHIZ2Z2REE S 93,334 85,000 8,334
OZAl=X2Zel&(2Y) 46,667,000 46,667
AlHI 39,667
-l 7,000
OYat=CIUI0IE (2Y) 46,667 ,000& 46,667
Al 39,667
el 7,000
NBE A S32 22 HEAY 300,000 300,000
401 AIEHIZL S OHEI 300,000 300,000
01 AIZHI 300,000 300,000
OATE YR S8t2 82 HAAY
300,000,000 300,000
M 2A L (AZ =X 407,418 419,514 A12,096
eI 2 361,885 361,885 0
eI =& 361,885 361,885 0
101 Q124H| 352,400 352,400 0
03 SR (I 22> 352,400 352,400 0
ONE, =X, 28 22 362,400
=2 3,900, 00021%5% 122 234,000
Houggt 7,200
b= (A
40,0003 x5~ 122 2,400
OIESY(EI)
20,0003 »20H « 122 4,800
=e S| 24,000
S A 40,0002 452+ 122 8,400
-HESIHI 3,900, 0002 5 +80% 15,600
TU2RY 87,200




SN ARSI
M HAPAZH|(MS =KD
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EEEER
21,1653 x8A| 2h*150%+52 2 x5 66,035
xR 3ENAY
21,1652 xBA| 2H+5H x25& 21,165
201 2= 1,575 1,575
01 At22t2l] 1,575 1,575
Oll=s & ot st 150,000 54 750
Oogset=s 100,000 +5& 500
OS2 U DAE HLEE
65,0002 5% 325
202 04| 500 500
01 2K 500 500
Ozl MLDF ol
20,0003 58 +53] 500
303 Za= 7,410 7,410
02 dtaois 7,410 7,410
Oodnaoi=s 3,900,000& 38%+5% 7,410
=]l 45,533 57,629 12,096
Jl=23H| 45,533 57,629 A12,096
201 er2 3| 12,063 12,053 0
01 AtR2t2|HI 12,053 12,053 0
ORMEg=SHl 5,832,000& 5,832
O=gtl 6,221,000 6.221
202 04| 30,240 42,336 12,096
01 SLHoIH 30,240 42,336 A12,096
OJlzgR=g80oid
280,000 «18H«6E 30,240
203 HR=AH] 3,240 3,240
MU A2 LRSI 3,240 3,240
ORANEgg =AY 3,600, 0002 *90% 3,240




